


I A, Bol Hst] A—-B = {3,4}, B—A=

9

I ol

A
5 A

Ol

2. U={1,234,5} 9 #24
{5}, AsnBe={1} 4 o,

=

I

@ {2} @ {3} ® {2,3} @ {2,4} ® {2,3,4}



3. Al H
A={z]0 <z < 1,2+ &5},
B = {z|z= 3 A2 9] H51,
C = {ala= 3 ol5te] A%y A
n(A) +n(B) +n(C) & stz



85
80
100
55
80
95
100
65
85
70

2t
80
90
85
70
95
100
95
75

Fol w2

o~ Or | S il | S ol |wf < ST o ar | of
I MH|<F B0 F < T |on|® W wol

ol

olp

A
I}

O A F7FIAF H471 804 o]

@ 71EIAL o) 71



T

® {3}

@ {3, 4, 5}

© {o}

® {3, 5, 7}

@ {{7}}



6. T= < 10 °I5te] 2 o Hio] Aehe davtd¥ o HiaA vebd 227

@® {2,4,6} @ {2,4,6,8} ® {2,4,6,8,10}

@ {2,4,6,8,10,12} ® {2,4,5,6,8,10}



7. oheold AEA AL BE DE AL

ru

SEER ECR
© 7V AL A% 7Yl

© 18T AT 28T 2L 2450 1o
© 5090 717he 4-0] =Yl

© §ET FT A5 2y

ON@) @ 0,0 ® 0,06,06
® 0,006, ® 0,06, 6,0



8.

11:116121-14 = {1727

) 9 BEAR

M7k 32 0L o, A n o] gh2?

® 3

@ 4 ® 5



A& A={1,2,--- ,n}
£ 23tehA] ge FiA
@® 3 @ 4

SoA YA 1, 3, n & FIEA]

=
470 Q) A% 0 o 3L

@ 6 ®7

S}

=}

okl 2



10. WA U o Al REAF 4,

QL
o, o5 $ 2 A2?

sy

€ o] g A7 Th i Tholof et 2

o

©® A-B=B @ AuBUC=U ® (AuC)C B

@ BnNnC=o ® AccC B



A={z |z 138}

A%

11.



12, AA™T U = {z|2t 8 ol5t9] A%} 9
Al F24d A = {z|z= 8 oI5t &4}, B={1,2,3,6}, C ={1,5} 7} 3t
AAFF U o & F2H44 X,V o tiste] X oY = (X UY)N(X°UY*©) ozt
s uj, (Ao B)oC

_1:‘_
.

@ {1,3} @ {1,5} ® {1,7}
@ {1,2,5} ® {1,2,6,7}



3. ARG U o & FEAY} A, B 7 oS WSS o, n(A) + n(B) 9] a-21
a1
H7
AUB=1{1,2,3, 4,5 6,7, 8}

A°NB={3, 4}
AcUBc=1{1,3, 4,7 8,09, 10}

@ 11

® 13



Does

@ {1,2}eS

14. A% S ={2, 0, 1, {1, 2} 2 W, & F &7

@ {02} ¢85

© {otes




15. AAEF U o] = F=240% A, B o tiste] n(A) = 34, n(B) = 15, n(A°NB°) =
74 W, n(U) o HNES H A0S 242 Fotofet



